H & 0l & AHS B Ml A

0248 =g 2 3| Lita| Dl

SA: Il
HH: zHI|sE2
el Zgd JisEs (SH9 H2)
- - SRA(3) - MISAY - BES Off &K & A HusZ
13,809,012 13,647,113 161,899
= 3,075,170 3,075,170 0
J| 3,831 3,831 0
= 787,000 787,000 0
= 7,543,011 7,381,112 161,899
CH 2,400,000 2,400,000 0
13,667,630 13,518,028 149,602
= 3,075,170 3,075,170 0
J| 3,831 3,831 0
S 787,000 787,000 0
i 7,401,629 7,252,027 149,602
CH 2,400,000 2,400,000 0
I8 1,069,921 1,076,883 26,962
= 287,000 287,000 0
J| 3,831 3,831 0
S 100,000 100,000 0
s 679,090 686,052 N6,962
P2 =gol JAEE AHIA 32,998 39,960 N6,962
201 Zet2& ] 32,998 39,960 NB,962
01 AtR2telbl 32,998 39,960 AB,962
OJIMEE MHIA
O 1,200 #23. 1244102 24,948 29,430 N4,482
OF2t JIAEE JHarA
1563 1,200 124 +43%= 8,050 10,530 A2,480
AERSE D223 686,760 702,040 N15,280
= 126,170 126,170 0
== 95,000 95,000 0
[ia 465,590 480,870 N15,280
AbDE EollE OIE A Al 129,200 130,600 21,400
307 el2+old 129,200 130,600 21,400
12 QIRIOIRIE = H| 3,200 4,600 1,400
ONZERA HdE2u=s 3,200 4,600 A1,400
—JI=u= &Il 700,000 «2H 1,400 2,800 A1,400
S0t MzE g2H K& 4,490 7,700 23,210
307 gIztold 4,490 7,700 A3,210
02 QIHHAAEE X 4,490 7,700 23,210
OAgl(ot) BEEH
179,600 *50na*50% 4,490 7,700 A3,210
LIS 4EHY M AlY 15,876 22,680 26,804
402 QI2EXH=20IH 15,876 22,680 26,804
01 QI RH2AIS 2R (R E) 15,876 22,680 NB,804
O2Fst=2 2,700 *2J x4, 200m *7(% 15,876 22,680 N6,804
EX0= SAI HETE Al 8,734 12,600 A3,866




A Il
M 59028
=2 ASHZ JeEs EER=E)
SA - ZE - SA(FH) - AIRAY - BES Oi &k N3 A Hunsz
402 QI2ERH=0I1 N 8,734 12,600 23,866
01 QIZFXHE AL B (KERITHE ) 8,734 12,600 A3,866
OS2 L THEH X
2,000&%6,238M" *7(% 8,734 12,600 A3,866
ADIEE sS4 10,714,648 10,542,504 172,144
= 2,662,000 2,662,000 0
= 342,000 342,000 0
= 5,310,648 5,138,504 172,144
CH 2,400,000 2,400,000 0
OHEAEC HOIEE 228 364,781 222,984 141,797
401 AIEHIZL 28I 225,613 83,816 141,797
01 Al&HI 225,613 83,816 141,797
ORE ALK 572 HHS AL 9,393 13,416 82,977
—EIIBAHI 2,19321+31,919.5m 70,000 0 70,000
—A2HJI2X 2l
123,2002x113.9& 14,033 0 14,033
—aAIEHESG] 12,360,000 & 14 12,360 13,416 21,09
ORF7 ANER X4 A2 2#3Y
SHE L 62,740,480 * 14! 62,741 70,400 A7,659
ORFZ ANED SXZH MEIHEHIE
=2 675 *74,555m" 50,325 0 50,325
Og=8 et &t U HMIISA
16, 154,000& * 14! 16,154 0 16,154
DA ADEE 3ZASE =4 3,874,347 3,844,000 30,347
401 AIEHIZL 28I 3,874,347 0 3,874,347
01 Al&HI 3,826,740 0 3,826,740
OADIEY ZIHASE ME(2, 28 AE)|
2) 678,500 +5,640m 3,826,740 3,826,740
02 Zeldl 37,274 37,274
OANET BZASHE =4 2eldl(22, 234
EN=DIE=)) 37,274,000& * 14! 37,274 37,274
03 AIE 2 CHHI 10,333 10,333
OANIER BIASE =4 AIL20UHI(22, 2
34 Ag0|2) 3,826,740,000& *0.27% 10,333 0 10,333
403 MRS MSKAHE01 A 0 3,844,000 23,844,000
02 S| 2SHICHEHAH2 X L EF AL I 0 3,844,000 A3,844,000
OADIER Z2HASE =4 (2024 XgAg
tHs213) ()= 0 1,844,000 A 1,844,000
OANET BIASHE =4(20234 XA
ts2132) 0 0 2,000,000 22,000,000
DX HE AUE ADEE X =4 2,400,000 2,400,000 0
CH 2,400,000 2,400,000 0
401 AIEHIZ 2018 420,000 0 420,000
CH 420,000 0 420,000
01 Al&Hl 420,000 0 420,000




M Il
M 50|28
gelr ANEE |4 EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
O FE AUE ALNEE SHX =4 &
A& E9Y 420,000,000 * 14! 420,000 0 420,000
CH 420,000 0 420,000
403 XM SAH=01H 1,980,000 2,400,000 420,000
CH 1,980,000 2,400,000 A420,000
02 SI|2SotHe X=X A S A 1,980,000 2,400,000 420,000
OLndxl 49 Ale ANEE ©X =4
1,980,000,000& *17H 2 1,980,000 2,400,000 420,000
CH 1,980,000 2,400,000 £420,000
AN D=t 1,196,301 1,196,601 A300
< 250,000 250,000 0
= 946,301 946,601 A300
Ol =tdE 29 108,560 108,860 A300
401 AIEHIZL 20| 4,470 4,770 A300
01 Al&ZHI 4,470 4,770 A300
Onds 22281 =8 22
4,470,000&4 1% 4,470 4,770 A300
HeasOlse7) 12,297 0 12,297
RSP 12,297 0 12,297
STHIAIS &R B 12,297 0 12,297
802 gtet=0|Et 12,297 0 12,297
01 3 NEXSEES 8,173 0 8,173
O2020E sEXE m12xs grats 70 0 70
— A ESHAIIENAOIEELRRES
) Zydo gy 69,360 70 0 70
O22d sEXE 212X graEs 8,103 8,103
— SIS NAOIEEZ LRSS
) o gy 154,670 185 0 185
—sEXNDI|EEE (SEEAA 2AEH|
X&) Zedgron g 3302 1 0 1
—SHESLNHSUZLMAIE oy gt
= 7,706,550 7,707 0 7,707
—=Jt2e] dolls e 28 JdH
ghet 239,580 240 240
02 Al - SHIEX=ZEHE= 4,124 4,124
022 sZEXT ATHEESEHEZ 3,963 3,963
—XNASHS PR Y HHTN B
3,962,970 3,963 3,963
0202348 ==X ASHIEERSEE3 161 161
—XSESSHNFIE Y JAMA A 0]
NI 160,240 161 0 161




